PRIMITIVNI FUNKCE

Spoctéte nasledujici primitivni funkce.

L [(2®+20+ 1) da 2> [ (18e” + 165" — L + 3cosz) da
35 [axe da 4r [sin®zdr
5. [ze®dx 6. [logzdx
7. [arctgzdx 8. [e™cosbrdr,a,beR
9. [Vabdzx 10. [cos®z+/sinzdx
1. [ sy 2. [gode
13, [ arctanct gy 14. [sin’zdzx
15, [ o= de 16, [ 2, dz
17. [ o2t da 18. [ trda
19. [ b de 20. [ isipiiicose gy pg (—7/2,7/2)
21. [(tgx)®dx 22. [ {Ride
23. [ 1+exp(m/2)+ex]}(m/3)+exp e dv . [ ohes
25. [log2zdx 2. [ wfi:il dz
2. [
VYSLEDKY
L t2* 4+ 22 + 17log 2|, © € (—00,0)az € (0,+00) 2. 18¢% + 2¢%% — log|z| + 3sinz, z €
(—o00,0)az € (0,+00) 3.—%6_””2, zeR 4.1z — 1sin2z, z€R 5.(zx—1e",z e R
6. xlogx —z, x € (0,+00) 7. zarctgz — $log(l +2?), 2 € R 8. Pokud @ # 0 nebo

b # 0, pak je feSenim funkce %(a cosbx + bsinbz), z € R; pokud a = b = 0, pak je feSenim funkce
1.4 —00.0
rreR 9P =q 10 TEel
7zt x € (0,4+00)
(2km, 2k+1)7), k € Z 11.%(1—|—logx)%—2(1—|—log33)%, re(l/e,+00) 12.log|tg 3|, z €
(km,(k+1)7), k€ Z 13.—e "arctge”+x—5log(l+e*), ze R 14.—3 sin? z cos x — 2 cosw
p— 2 p—
15. Llog(z? — 2 +2) + ﬁarctg zfﬁl, 16. 4%ﬁlog m; , 2 € (—00,—V1+4++/2)
nebo z € (—\/l—i-ﬂ),\/l—l-ﬁ) nebo (v/1+ /2, +00) 17. z 4 ¢log|z| — Jloglz — 2| +
2 log |z — 3|, 2 € (—00,0) nebo z € (0,2) nebo z € (2,3) nebo x € (3, +00) 18. ¢ log j;:;fl +
\3[ a:+4‘ 5412 2 € (—o00, —4)

z+2 (z+2)(z+4)°
nebo z € (—4,—2) nebo z € (—2,+00) 20. f arctg <% tg 3:) - 21. 1 tg4 T — %th x +
Llog(l + tg?x), z € (—7/2 + km,7/2 + k7)), k € Z 22. 1+t Thgz T4 © € (77r/2,7r/2))
23. —3arctg(e®/%) — %log(em/3 +1)—3log(e®*S4+1)+z, € R 24. log |tg @] — 72z x €

(0,7/2)+kr/2, k € Z 25.xlog’x—2xlog x4+ 2z, x € (0,4+00) 26.log(z>+x+1), reR
27.log (e* + 1), zr€eR

10. 7sm2x—%sm2x+ 1sm x T €

arctg 2f/'t1, x € (—00,1) nebo x € (1, +0c0) 19. 2log




